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Paper - 11
3.

An Operating System uses Shortest
Remaining Time First (SRT) process
scheduling algorithm. Consider the
arrival times and execution times with
the following processes.

Process|Execution TimelArrival Time
P1 20 0
P2 25 15
P3 10 30
P4 15 45

What is the total waiting time for the
process P2 ?

@) 5 B) 15
© 40 D) 55

The Data blocks of a very large file in
the unix file system are allocated
using :

(A) Contiguous allocation
(B) Linked allocation
(C) Indexed allocation

(D) An extension of indexed allocation

Paper-II

Match the following system calls :

(a) chmod (1) Executes a process

(b) fork (i1) Creates a File

(¢) exec (iii) Creates a Child
Process

(d) create (iv) Change the
permission of file

Codes :

@ B () (@

@ O G @ G

B Gv) Gi) @) G

C) () Gv) @) @)

(D) i) @ G Gv)

Which of the following system calls is
not related to the UNIX file system ?

(A) create (B)
{C) stat

close

(D) wait

Let the time taken to switch between
user and' kernel of execution to be t;
while the time taken to switch between
the two processes be t,. Which of the
following is True ?

@A) >t
(B) t, =t,
© t<t,

(D) Nothing can be said about the
relation between t; and ty

B-04-17




7.

8.

IfA ={1,2,3,4}and R = {(1,2), (2,3), (3,4),
(4,2)y and S = {1,3), (2,4), (4,2), (4,3)}
then SoR is :

B {(1,3).(2,3), (3,4), 4,4);
© (LD, 22), 43), 49}

D) {14, (22), (4,3), 4,4

The number of different relations from
a set with m elements to a set with n
elements is :
Ay 2m (B) mn
() 2mn (D) 2u

Number of integers between 1 and 104
that contain exactly one 8 and one 9 1s :
(A) 2x3x82 (B) 4x3x8?
(C) 8x9x8? (D) 8x3x92

The language L={a"b"c":n 2 1} is:

(A) Not context free but context
sensitive
(B) Not regular but context free

Not context sensitive but regular

Not context sensitive but context
free

10.

11.

12.

13.

A

A path in graph G which contains every
vertex of G once and only once is :

(A) Eular tour
(B) Hamiltonian path
(C) Eular trial

(D) Hamiltonian tour

Which of the following is a connection
oriented protocol ?
(A) TCP (B) IP

() SNMP (D) DNS

The kind of switching predominantly
used in Internet is :

(A) Circuit Switching
(B) Packet Switching
(C): Streaming

(D) Automatic Switching

The address of a class B host is to be
split into subnets with a 6 bit subnet
number. What is the maximum number
of subnets and the maximum number of
hosts in each subnet ?

(A) 62 subnets and 262142 hosts

(B) 64 subnets and _262142 hosts

(C) 62 subnets anci 1022 hosts
64 subnets and 1024 hosts

)
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14.

15.

16.

(O

One of the header fields in an IP
datagram is Time to Live (TTL) field,
which of the following statement best
explains the need for this field ?

(A) It can be used to prioritize

packets.
(B) It can be used to reduce delay.
(C) It can be used to optimize
throughput.
(D) It can be used to drop the packets.

The transport protocols used for real
time multimedia, file transfer, DNS and
e-mail respectively are : -

(A) TCP, UDP, UDP and TCP
(B) UDP, TCP, TCP and UDP

UDP, TCP, UDP and TCP
(D) TCP, UDP, TCP and UDP

Consider the relation R (A, B, C, D, E)
with functional dependencies AB —» E
and D — C. Which of the following is
the primary key for the relation R ?

(A) ABC
(B) ABCDE
(C) ABCE
(D) ABD

Paper-II

17.

18.

19.

(B)

Which of the following statements is
False ?

(A) BCNF eliminates redundancies
with respect to functional
dependencies.

(B) All Normal forms based on
functional dependencies are
nested.

(C) 3NF eliminates redundancies with
respect to multivalued
dependencies.

(D)

3NF  preserves functional

dependencies.

Which of the following is not in isolation
level in SQL ?

(A) Read-committed

(B) Repeatable-read

(C) Read-uncommitted

(D) Read-Write committed

2PL produces optimal schedules.

(A) The statement is true for all

schedules.

The statement is true for some
schedules.

(C) The statement is false for all

schedules.

(D) None of the above

B-04-17




20.

21.

22.

23.

Which of the following forms can be
taken by the Cardinalities of ternary
relationships ?

(A) 1:1:1
(B) M:N:P
(C) 1:M:N

(D) All of the above

Assembler can convert mneumonic
instruction to machine instruction in :

{A) One Pass

(B) Two Pass

(C) Three Pass

(D) All of the above

A Linker is a program :

(A) Which combines several machine
level programs together.

(B) Combines library modules
(C) Resolves the references of symbols

(D) All of the above

A High level language program can be
converted to machine level program

by :

(A) Interpreter

(BY Compiler

(C) Assembler

(D) (A) and (B) only

Paper-11 :
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24, Which of the following is not an
intermediate code ?

(A) Quadruples
(B) Triples
{C) Machine code

(D) Pcode

25. Match the following :

(a) Lexical Analysis (i) Checking
grammar

(b) Syntax Analysis (11) Creating
lexemes

(¢) Code generation (ii1) Strength
reduction

(d) Optimization (iv) Machine code
production

Codes :

(@ () (© (@@
(A Gv) @) @) O
B) @ @ Gi) )
© @ @ Gav) (i)
D)y vy G (@) @)
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26. The description of particular product,
program or set of programs that
perform a set of functions in target
environment is referred to :

(A) Software
specification.

Requirements

(B) Software Design Document
(C) Software Test Plan

(D) Risk Management Plan

27. The metric that is derived using an
empirical relationship based on
countable measures of software
information domain and assessment of
software complexity is called :

(A) Coupling
(B) Cohesion
(C) Coupling between object classes

(D) Function point

28. The final deliverable which is produced
as a result of transforming or mapping
a data flow diagram using transform or
transaction flow is : '
(A) Context level DFD
(B) 2" Level DFD
(C) Structure Chart

(D) Architecture diagram

Paper-I1

29,

30.

31.

One of the following testing mechanisms
involve re-execution of some subset of
tests that have already been conducted
to ensure that changes have not
propagated unintended side effects :

(A) Stress testing
(B) Performance testing
(C) Regression testing

(D) Glass box testing

If there are four variables used in a
program, then the number of test cases
needed to check the correctness of
boundary value analysis are :

(A) 16 (B) 64

(C) 256 D) 25

Which one of the following is a valid
conclusion from the premises P v Q,
@—>R PoMand~M?

(A) Rv(PAQ
(B) PA@QVRER)
© Pv@QAR

D) RAPvQ
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32.

33.

34.

A)

An SR flip flop is converted to
flip flop by inserting an

inverter between S and R by assigning

a single input.

(A) Master Slave

® T
(¢) JK
(D) D

Find the 7's complement of 65402 (Octal
Number).

12375 (B) 12376

(C) 11375 (D) 11376

A generic shift register has which of the
following capabilities ?

(A) An input for clock pulse to
synchronize all operations.

(B) ‘n’ parallel output lines.

(C) A shift left operation and a serial
input line associated with shift
left.

(D) Al of the above

Paper-11

35.

36.

37.

A

(2FAOC),¢ is equivalent to :

(A) (195084),,

(B) (101111101000001100),
(C) Both (A) and (B)

D) (375014)

What is the meaning of following
declaration ?

int(*P[10D( );

(A) P is a pointer to function

(B) P is array of pointer to function
(C) P is a pointer to such function
whose return type is array.

(D) P is a pointer to array of function.

Polymorphism means :

(A) Data fields should be declared
private.

(B) Class can extend another class.

(C) Variables of super type can refer
to a subtype object.

(D) Class can contain another class.

B-04-17




O

38. What is the output of the following
program ?

#include<iostream.h>
using namespace std;
long factoriai(long a)
{
If(a>1)
return(a*factorial (a+1));
else

return(l); -
int main{)}
long num=3;

count<<num<<” ! ="<<factorial (num) ;

return 0;

A) 6
B 24
(C) 18

(D) Segmentation fault

39. IfX=63and Y=30. If X and Y occupy
one byte each, what will be the value of
X"Y (where * is exclusive OR operator)?

(A) 47 (B 40

(C) 65 D) 33

40. How many “#” are printed when the
following code gets executed ?

#include<stdio.h>
void func(int n)
{
int i=0;
if(n>1)
func{n-1);
for(i=0;i<n;i++)

printf£{(“#");

int main(}
{
func(35);
}
A 15 (B) 60
© 10 (DY 20




41.

42.

43.

414.

45.

The maximum number of nodes on level
“i” of binary tree is :

(A) 9i—1
€ 2

®) 2-1
(D) gi+1

Every n-vertex connected undirected
graph contains :

(A) (n-2) edges

(B) At most (n-2) edges
(C) Exactly (n-1) edges
(D) At least (n-1) edges

Which of the following is/are the levels
of implementation of data structure ?

(A) Abstract level

(B) Application level

(C) Implementation level
(D) All of the above

A graph is said to be if the
vertices can be split into two sets V, and
V, such that there are no edges between
any two vertices of V, or any two
vertices of V,.

(A) Partite
(C) Rooted

(B) Bipartite
(D) Weighted

What would be the asymptotic time
complexity to add an element in the
linked list ?

Ay oM

®B) O(n)

(C) O(nd

(D) None of the above

Piz'pqr—?l-

46.

47.

48.

49.

50.
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Smart cards are examples of :

(A) Electronic Data Interchange
(B) ERP Systems

{C) Electronic data capture systems
(D) Electronic Payment Systems

ATM Stands for :

(A) Any Time Money

(B) Automated Teller Machine
(C) Automated Transfer of Money
(D) All Time Monitoring

OLAP is based on :

(A) E-R Modelling

(B) Data Cube Structure
(C) Relational model
(D) Hierarchical model

In which of the following, redundancy
is minimized ?

(A) Star schema model
(B) Fact consolation schema
(C) Snow flakes schema
(D) Star cubing schema

Which one of the following networks
uses dynamic or adaptive routing ?

(A) TYMNET (B) SNA
(C) DNA (D) ARPANET
-000-
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